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1. Complete
UB = .o,
v
2_7i = correct to the nearest 10
LB = 2670
2. Complete
UB = .o,
v
ﬂf = i, correct to the nearest 10
LB = 5760
3. Complete
UB = .o,
v
5_2 = e, correct to the nearest 10
LB = 560

correct TOnearest (10) Q1: 2670  Q2:5770  Q3: 560 Q4: 54330 Qb5: 7260 Q6: 830

1. Complete
UB= ..
v
ﬂi = e correct to the nearest 10
LB = 2670
2. Complete
UB= ..
v
576 i = e, correct to the nearest 10
LB = 5760
3. Complete
UB= ..
v
56 i = i, correct to the nearest 10
LB = 560
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4. Complete
UB= .o,
\4
Mﬁ = correct to the nearest 10
LB = 54320
5. Complete
UB= .o,
v
ﬁ? = correct to the nearest 10
LB = 7250
6. Complete
UB = .o,
v
_zi = e correct to the nearest 10
LB = 820
4. Complete
UB= .o,
v
04 32? = e, correct to the nearest 10
LB = 54320
5. Complete
UB= .o,
v
ﬁﬁ = correct to the nearest 10
LB = 7250
6. Complete
UB= .o,
v
_22 = e, correct to the nearest 10
LB = 820
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